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SECONDARY SCHOOL EXAMINATION-2024  (ANNUAL) 

ECONOMICS (OPT) 

  

Time: 3Hours 15 Minutes               

Full Marks

Total No. of Questions - 

Instructions for the candidates :-

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadks dk ½ vo’; fy[ka sA 

Candidates must enter his / her Question Booklet Serial No. (10 Digits) in 

the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give their answers in own words as far as 

practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz’uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k x;k gSA 

An extra time of 15 minutes has been allotted for the candidates to read the 

questions carefully. 

 ;g iz’u&i= nks [k.Mksa esa gS] 

This question booklet is divided into two sections: Section-A and Section-

B.

Subject Code:- 116 
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6-  [k.M&v esa 100 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 50 iz’uksa dk mÙkj nsaA izR;sd Ikz’u ds 

fy, 1 vad fu/kkZfjr gSA buds lgh fodYi dks miyC/k djk;s x, OMR 'khV esa fn, x, 

fodYi dks uhys @dkys ckWy isu ls izxk<+ djsaA 50 iz’uksa ls vf/kd iz’uksa dk mÙkj nsus dh 

fLFkfr esa izFke 50 iz’uksa dk gh ewY;kadu fd;k tk,xkA fdlh Hkh izdkj ds OgkbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj iqfLrdk esa iz;ksx djuk euk gS] vU;Fkk ijh{kk 

ifj.kke vekU; gksxkA 

In Section A, there are 100 Objective Type Questions, out of which any 50 

questions are to be answered. Each question carries 1 mark. For answering 

these darken the circle with blue/ black ball pen against the correct option 

on OMR sheet provided to you. If more than 50 questions are answered, 

only first 50 answers will be evaluated. Do not use Whitener / Liquid / Blade 

/ Nail etc. on OMR Sheet, otherwise the result will be treated invalid. 

7- [k.M& c esa 30 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 15 iz’uksa ds mÙkj nsuk vfuok;Z gSA 

izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA buds vfrfjDr bl [k.M esa 8 nh?kZ mÙkjh; iz’u 

Hkh fn, x, gSa] ftuesa ls fdUgha 4 iz’uksa dk mÙkj nsuk vfuok;Z gSA izR;sd iz’u ds fy, 5 

vad fu/kkZfjr gSaA 

In section-B, there are 30 Short Answer Type Questions, Out of which any 

15 questions are to be answered. Each question carries 2 marks. Apart from 

these, there are 8 Long Answer Type Questions, out of which any 4 

questions are to be answered. Each question carries 5 marks.  

8- fdlh rjg ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic device is strictly prohibited. 
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SECTION - A 

Objective Type Questions 

iz'u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d 

lgh gSA vius }kjk pqus x;s lgh fodYi dks OMR ’khV ij fpfUgr djsaA fdaUgh 50 iz’uksa ds 

mrj nsaA           [50x1=50] 

Question Nos. 1 to 100 have four options, out of which only one is correct. You 

have to mark your selected option, on the OMR Sheet. Answer any 50 questions. 

            [50x1=50] 

1- fuEu esa ls dkSu ;kstuk O;; esa lfEefyr gS \ 

 (A) df̀"k     (B) m|ksx 

 (C) f’k{kk     (B) buesa lHkh 

 Which of the following is included in plan expenditure ? 

 (A) Agriculture    (B) Industry 

 (C) Education    (D) All of these 

2- Hkkjr esa ctV fdruh vof/k ds ckn is’k fd;k tkrk gS \ 

 (A) frekgh     (B) Nekgh 

 (C) izfr o"kZ     (D) 5 o"kZ ij 

 The budget in India is presented after what period of time ? 

 (A) Quarterly    (B) Half yearly 

 (C) Every year    (D) 5 years 

3- ik¡poh iapo"khZ; ;kstuk dk dk;Zdky fdrus o"kksZa dk jgk \ 
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 (A) rhu o"kZ     (B) pkj o"kZ 

 (C) ik¡p o"kZ     (D) buesa dksbZ ugha 

 What was the duration of the fifth five year plan in years ? 

 (A) Three years    (B) Four years 

 (C) Five years    (D) None of these 

4- izkFkfed f’k{kk dks O;kid cukuk fdl iapo"khZ; ;kstuk dk mís’; Fkk \ 

 (A) lk¡rok     (B) vkBoka 

 (C) ukSoka     (D) buesa dksbZ ugha 

 Which five year plan aimed at universalizing primary education ? 

 (A) Seventh    (B) Eighth 

 (C) Ninth     (D) None of these 

5- lafo/kku ds fdl vuqPNsn ds rgr dsUnz ljadkj leLr ns’k dk okf"kZd foÙkh; fooj.k rS;kj 

djrh gS \ 

 (A) vuqPNsn 110    (B) vuqPNsn 111 

 (C) vuqPNsn 112    (D) vuqPNsn 202 

Under which article of the constitution the central government prepares the 

annual Financial Statement of the whole country ? 

 (A) Article 110    (B) Article 111 

 (C) Article 112    (D) Article 202 

6- fuEufyf[kr esa dkSu xSj&;kstuk O;; ugha gS \ 

 (A) flapkbZ ij O;;    (B) _.kksa ij C;kt 
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 (C) Hkwdai ihfM+rksa dks vukt nsuk  (D) lgk;rk vuqnku 

 Which of the following is not non-plan expenditure ? 

 (A) Expenditure on irrigation   

(B) Interest on loans 

 (C) Giving Food grains to earthquake victims 

 (D) Grant-in-aid 

7- fuEufyf[kr esa dkSu futh LokfeRo dk laxBu gS \ 

 (A) ch ,p bZ ,y    (B) th , vkbZ ,y 

 (C) ,u Vh ih lh    (D) fjyk;al 

 Which of the following is private owned organization ? 

 (A) BHEL     (B) GAIL 

 (C) NTPC     (D) Reliance 

8- ,d ls vf/kd ns’kksa esa O;kolkf;d xfrfof/k;ka lapkfyr djus okys m|e dgykrs gSa \ 

 (A) oSf’od m|e     (B) lkoZtfud m|e 

 (C) futh m|e    (D) varjkZ"Vªh; O;kikj 

 Enterprises that conduct business activities in more than one country are 

called ? 

 (A) Global enterprises   (B) Public enterprises 

 (C) Private enterprises   (D) International trade 

9- lkoZtfud miØeksa dk izca/ku ,oa fu;a=.k fdlds gkFkksa esa gksrk gS \ 

 (A) ljdkj     (B) vf/kdkjh 
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 (C) cSad     (D) jktusrk 

 In whose hands is the management and control of public enterprises ? 

(A) Government    (B) Officer 

(C) Bank     (D) Politician 

10- fuEu esa ls fdlessa jktuSfrd gLr{ksi ns[kus dks ugha feyrk gS \ 

 (A) lkoZtfud miØe    (B) futh miØe 

 (C) la;qDr miØe    (D) buesa dksbZ ugha 

Political interference is not seen in which of the following ? 

(A) Public undertaking   (B) Private undertaking 

(C) Joint venture    (D) None of these 

11- jk"Vªh; fodkl ifj"kn ds lnL; dkSu gksrs gSa \ 

 (A) jkT;ksa dss eq[;ea=h   (B) dsUnzh; eaaf=ifj"kn ds lnL; 

 (C) dsUnz’kkflr izns’kksa ds iz’kkld  (D) buesa lHkh 

Who are the members of the National Development council ? 

(A) Chief Ministers of the states  

(B) Members of Union Council of Ministers 

 (C) Administrators of Union Territories 

 (D) All of these 

12- iz/kkuea=h uhfr vk;ksx ds insu ------------- gksrs gSaA 

 (A) lnL;     (B) dks"kk/;{k 

 (C) lfpo     (D) v/;{k 
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The Prime Minister is ex-officio ………. Of the Niti Ayog. 

(A) Member    (B) Treasurer 

(C) Secretary    (D) Chairman 

13- f}rh; iapo"khZ; ;kstuk dk D;k mís’; Fkk \ 

 (A) df̀"k mRiknu esa òf)    

(B) Ms;jh dks c<+kok 

 (C) vkS|ksxhdj.k dh izfØ;k dks izkjaHk djuk 

 (D) buesa lHkh 

What was the objectives of the second five year plan ? 

 (A) Increase in agriculture production 

 (B) Dairy promotion 

 (C) Starting the process of industrialisation 

 (D) All of these 

14- fdl jkT; esa xzkeh.k vkcknh dk izfr'kr lokZf/kd gS \ 

 (A) fcgkj     (B) fgekpy izns’k 

 (C) gfj;k.kk     (D) buesa dksbZ ugha 

Which state has the highest percentage of rural population ? 

(A) Bihar     (B) Himachal Pradesh 

(C) Haryana    (D) None of these 

15- fcgkj dh lk{kjrk nj yxHkx fdruk izfr’kr gSa \ 

 (A) 64 izfr’kr    (B) 70 izfr’kr 
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 (C) 80 izfr’kr    (D) 84 izfr’kr 

Approximately what percentage is the literacy rate of Bihar ? 

(A) 64 %     (B) 70 % 

(C) 80 %     (D) 84 % 

16- Hkkjr esa xjhcksa dh la[;k yxHkx fdruk djksM+ gS \ 

 (A) 20      (B) 22 

 (C) 25      (D) 30 

The number of poor in India is approximately how many crores ? 

(A) 20      (B) 22 

 (C) 25      (D) 30 

17- tc izfr O;fDr vk; de gks rc fdruk iw¡wth alap; gksrk gS \ 

 (A) de     (B) vf/kd 

 (C) vkSlr     (D) buesa dksbZ ugha 

How much accumulation of capital takes place when per capita income is 

low ? 

 (A) Less     (B) More 

 (C) Average    (D) None of these 

18- Hkkjr fuekZ.k ;kstuk dk D;k mís’; gS \ 

 (A) xzkeh.k {ks= esa vk/kkjHkwr <+k¡ps dk fuekZ.k 

 (B) lM+d cuokuk 

 (C) 'kgjh {ks= esa vk/kkjHkwr <+k¡ps dk fuekZ.k 
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 (D) buesa ls dksbZ ugha 

 What is the objective of Bharat Nirman Yojana ? 

 (A) Creation of rural infrastructure  

 (B) Road construction 

 (C) Creation of urban infrastructure 

 (D) None of these 

19- Hkkjr esa jk"Vªh; [kk| lqj{kk v/;kns’k fdl o"kZ yk;k x;k \ 

 (A) 2012     (B) 2013 

 (C) 2014     (D) 2015 

In which year the National Food Security Ordinance was introduced in 

India? 

 (A) 2012     (B) 2013 

 (C) 2014     (D) 2015 

20- fuEukafdr esa ls dkSu lk m|ksx lokZf/kd jkstxkj iznku djrk gS \ 

 (A) phuh fey    (B) Ms;jh m|ksx 

 (C) oL= m|ksx    (D) buesa dksbZ ugha 

 From the following which industry provides maximum employment ? 

 (A) Sugar mills    (B) Dairy Industry 

 (C) Clothing Industry   (D) None of these 

21- fdl {ks= dh jkstxkj esa fgLlsnkjh c<+rh tk jgh gS \ 

 (A) izkFkfed {ks=    (B) f}rh;d {ks= 
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 (C) lsok {ks=     (D) buesa dksbZ ugha 

 For which sector the share in employment is increasing ? 

 (A) Primary sector   (B) Secondary sector 

 (C) Service sector   (D) None of these 

22- Lo.kZ t;arh xzke Lojkstxkj ;kstuk dc izkjaHk dh x;h \ 

 (A) 1998     (B) 1999 

 (C) 2000     (D) buesa dksbZ ugha 

 When was Swarna Jayanti Gram Swarozgar Yojana started ? 

 (A) 1998     (B) 1999 

 (C) 2000     (D) None of these 

23- ujsxk ;kstuk dh 'kq:vkr fdl iz/kkuea=h us fd;k Fkk \ 

 (A) vVy fcgkjh oktis;h   (B) eueksgu flag 

 (C) ujsUnz eksnh    (D) buesa dksbZ ugha 

 Which Prime Minister started the NREGA Scheme ? 

 (A) Atal Bihari Vajpayee  (B) Manmohan Singh 

 (C) Narendra Modi   (D) None of these 

24- cpr dks izksRlkfgr djus ds fy, RBI dks C;kt njsa D;k djuh iM+rh gS \ 

 (A) c<+kuh     (B) ?kVkuh 

 (C) vifjofrZr    (D) buesa dksbZ ugha 

 What does RBI do to rate of interest to encourage savings ? 

 (A) Increase    (B) Reduce 
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 (C) Unchanged    (D) None of these 

25- xqUukj feMZy dks fdl {ks= esa ukscsy iqjLdkj feyk gS \ 

 (A) vFkZ’kkL=     (B) vuqla/kku 

 (C) f’k{kk     (D) lekt lsok 

 In which field was Gunnar Myrdal awarded the Nobel Prize ? 

 (A) Economics    (B) Research 

 (C) Education    (D) Social Service 

26- FERA dkuwu dc ykxw gqvk \ 

 (A) 1973     (B) 1974 

 (C) 1975     (D) buesa dksbZ ugha 

 When did the FERA Act come into force ? 

 (A) 1973     (B) 1974 

 (C) 1975     (D) None of these 

27- xjhch vkadyu ds fy, 'kgjh {ks= esa izfrfnu izfr O;fDr ds fy, fdruh ek=k esa dSyksjh 

fu/kkZfjr gS \ 

 (A) 2100     (B) 2200 

 (C) 2300     (D) 2400 

 What is the prescribed amount of Calories per person per day in an urban 

area for poverty estimation ? 

 (A) 2100     (B) 2200 

 (C) 2300     (D) 2400 
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28- eqnzk LQhfr gS & 

 (A) vO;oLFkk     (B) fo}s"k  

 (C) egaxkbZ esa òf)    (D) buesa lHkh 

 Inflation is - 

 (A) Chaos     (B) Grudge 

 (C) Rise in price    (D) All of these 

29- xjhch js[kk dk fu/kkZj.k fdl vk/kkj ij fd;k tkrk gS \ 

 (A) dSyksjh dh ek=k    (B) vk; 

(C) izfr O;fDr ekfld miHkksx O;; (D) buesa lHkh 

On what basis is the poverty line determined ? 

(A) Calorie intake    

(B) Income 

(C) Per capita monthly consumption expenditure    

(D) All of these 

30- dkyk /ku ls D;k vfHkizk; gS \ 

 (A) xSj dkuwuh /ku@laifÙk   (B) Hkkjh /ku@laifÙk 

 (C) fojklr esa feyk /ku@laifÙk  (D) buesa dksbZ ugha 

 What is meant by Black Money ? 

 (A) Illegal money/property  (B) Huge Money/Property 

 (C) Inherited money property   (D) None of these 

31- fuEufyf[kr esa ls dkSu ls rRo ekax dks izHkkfor djrk gS \ 
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 (A) bZPNk     (B) Hkqxrku dh ;ksX;rk 

 (C) Hkqxrku gsrq rRijrk   (D) buesa ls lHkh 

 From the following which factor influences demand ? 

 (A) Desire     (B) Ability to pay 

 (C) Willingness to pay   (D) All of these 

32- oLrq dh ekax blfy, gksrh gS D;ksafd mlesa fuEufyf[kr xq.k gksrk gS & 

 (A) mi;ksfxrk    (B) mRiknu 

(C) miHkksx     (D) buesa dksbZ ugha 

A commodity is demanded because it has the following characteristic - 

(A) Uitility     (B) Production 

(C) Consumption    (D) None of these 

33- ekax ds fu;e esa viokn dk igyk fo’ys"k.k fdlus fd;k Fkk \ 

 (A) ek’kZy     (B) fxQsu  

 (C) ,Me fLeFk    (D) buesa dksbZ ugha 

 Who was the first to analyze the exception to law of demand ?  

(A) Marshall    (B) Giffen 

(C) Adam Smith    (D) None of these 

34- tc lhekar mi;ksfxrk 'kwU; gksrh gS rks dqy mi;ksfxrk gksrh gS & 

 (A) U;wure     (B) vf/kdre 

 (C) fLFkj     (D) buesa ls dksbZ ugha 

 When marginal utility is zero, total utility becomes - 
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(A) Minimum      

(B) Maximum 

(C) Constant   

(D) None of these 

35- jkcZV fxQsu dk laca/k fdlls gS \ 

 (A) xjhch dk nq"pØ  ls   (B) mRiknu ds iSekuk ls 

 (C) fxQsu fojks/kkHkkl ls   (D) buesa dksbZ ugha 

 Robert Giffin is related to which of these ? 

(A) Vicious circle of poverty  (B) Scale of production 

(C) Giffen’s paradox   (D) None of these 

36- ekax dk fu;e fuEufyf[kr esa ls dgk¡ ykxw ugha gksrk gS \ 

 (A) fxQsu oLrqvksa ij   (B) cgqewY; oLrqvksa ij 

 (C) vfuok;Z oLrqvksa ij   (D) buesa lHkh 

 On which of the following the law of demand does not apply ? 

 (A) On Giffen goods   (B) On valuables goods 

 (C) On necessary goods  (D) All of these  

37- ekax dh yksp dks ekius esa loZizFke fdlus izfr’kr fof/k dk iz;ksx fd;k Fkk \ 

 (A) ek’kZy     (B) fey 

 (C) ihxw     (D) buesa dksbZ ugha 

 Who first used the percentage method to measure elasticity of demand ? 

 (A) Marshall    (B) Mill 
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 (C) Pigou     (D) None of these 

38- MsfcV dkMZ fdl rjg ds eqnzk dk mnkgj.k gS \ 

 (A) IykfLVd eqnzk    (B) dkxth eqnzk 

 (C) lk[k eqnzk    (D) buesa dksbZ ugha 

 Debit card is an example of which type of money ? 

 (A) Plastic Money   (B) Paper Money 

 (C) Credit Money    (D) None of these  

39 mn; dqekj /keZfyaxe~ izfl) gS & 

 (A) xk;d ds :Ik esa    (B) vfHkusrk ds :Ik esa 

 (C) :Ik;k ds izrhd fpUg cukus ds fy, (D) vFkZ’kkL= ds :Ik esa 

 Uday Kumar Dharmalingam is famous - 

 (A) As a Singer    (B) As an Actor 

 (C) For making Rupee Symbol (D) As an Economist 

40- AXIS cSad fdl {ks= ds cSad dk mnkgj.k gS \ 

 (A) ljdkjh     (B) futh 

 (C) fons’kh     (D) buesa dksbZ ugha 

 AXIS Bank is an example of which sector bank ? 

 (A) Government    (B) Private  

 (C) Foreign     (D) None of these 

41- fuEufyf[kr esa ls dkSu cSfdax laxBuksa dh 'kh"kZLFk laLFkk gS \ 

 (A) LVsV cSad vkWQ bafM;k   (B) iatkc us’kuy cSad 
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 (C) fjtoZ cSad vkWQ bafM;k   (D) buesa dksbZ ugha 

 Which of the following is the apex body of banking organizations ? 

 (A) State Bank of India   (B) Punjab National Bank 

 (C) Reserve Bank of India  (D) None of these  

42- Hkkjrh; m|ksxksa dks nh?kZdky ds fy, dkSu _.k iznku djrk gS \ 

 (A) Hkkjrh; vkS|ksfxd foŸk fuxe  (B) lgdkjh cSad 

 (C) Hkkjrh;  fjtoZ cSad   (D) buesa dksbZ ugha  

 Who provides long term loans to Indian industries ? 

 (A) Industrial Finance Corporation of India 

(B) Cooperative bank 

 (C) Reserve Bank of India 

 (D) None of these  

43- vkj ch vkbZ dk eq[;ky; dgk¡ fLFkr gS \ 

 (A) fnYyh     (B) dksydkrk 

 (C) eqacbZ     (D) buesa dksbZ ugha 

 Where is the headquarter of RBI situated ? 

 (A) Delhi     (B) Kolkata 

 (C) Mumbai    (D) None of these 

44- fons’kh O;kikj esa vkfFkZd laca/k gksrk gS & 

 (A) nks jkT;ksa ds chp   (B) nks ns’kksa ds chp 

 (C) nks ftyksa ds chp   (D) buesa dksbZ ugha 
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 In Foreign trade there is economic relationship - 

 (A) Between two states  (B) Between two countries 

 (C) Between two district  (D) None of these  

45- Lora=rk iwoZ Hkkjr eksVjlkbfdy] nok ,oa e’khu dk fuEufyf[kr esa ls D;k djrk Fkk \ 

 (A) mRiknu     (B) vk;kr 

 (C) fu;kZr     (D) buesa dksbZ ugha 

 What was India doing prior to independence with regard to Motorcycle, drug 

and machinery ? 

 (A) Production    (B) Import 

 (C) Export     (D) None of these 

46- xkSVÝkbZM vkdssuoky dk laca/k fdl ns’k ls gS \ 

 (A) teZuh     (B) bVyh 

 (C) Ýkal     (D) buesa dksbZ ugha 

 Gottfried Achenwall belongs to which country ? 

 (A) Germany    (B) Italy 

 (C) France     (D) None of these 

47- lkaf[;dh; vkadM+s fuEu esa ls fdu L=ksrksa ls izkIr fd;s tkrs gSa \ 

 (A) izkFkfed     (B) f}rh;d  

 (C) (A) vkSj (B) nksuksa   (D) buesa dksbZ ugha 

 Statistical data is obtained from which of the following sources ? 

 (A) Primary     (B) Secondary 
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 (C) Both (A) and (B)   (D) None of these 

48- j?kqjke jktu RBI esa fdl in ij Fks \ 

 (A) lfpo     (B) dks"kk/;{k 

 (C) xouZj     (D) buesa dksbZ ugha 

 What position did Raghuram Rajan hold in RBI ? 

 (A) Secretary    (B) Treasurer 

 (C) Governor    (D) None of these  

49- f}rh;d vkadM+ksa ds ladyu easa fdldk lgkjk fy;k tkrk gS \ 

 (A) x.kukdkj     (B) izdkf’kr L=ksrksa 

 (C) vFkZ’kkL=h     (D) buesa dksbZ ugha 

 Whose support is solicited in the collection of secondary data ? 

 (A) Enumerator    (B) Published sources 

 (C) Economist    (D) None of these  

50- jk"Vªfgr esa cSafdax iz.kkyh dk lapkyu dkSu djrk gS \ 

 (A) foÙk ea=ky;    (B) foÙk lfpo 

 (C) vkj ch vkbZ    (D) buesa dksbZ ugha 

 Who operates the banking system in the national interest ? 

 (A) Finance Minister   (B) Finance Secretary 

 (C) RBI     (D) None of these  

51- ykWdj dh lqfo/kk dkSu iznku djrk gS \ 

 (A) dsUnzh; cSad    (B) lgdkjh cSad 
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 (C) O;kolkf;d cSad    (D) buesa dksbZ ugha 

 Who provides locker facility ? 

 (A) Central Bank    (B) Cooperative Bank 

 (C) Commercial Bank   (D) None of these 

52- dksVZ Qhl fuEufyf[kr esa ls fdlds varxZr vkrk gS \ 

 (A) dj jktLo izkfIr;k¡   (B) xSj&dj jktLo izkfIr;k¡ 

 (C) nksuksa (A) vkSj (B)   (D) buesa dksbZ ugha 

 Court Fees comes under which of the following ? 

 (A) Tax revenue reciept  (B) Non-tax revenue receipt 

 (C) Both (A) and (B)   (D) None of these 

53- fu;kZr&vk;kr ls lacaf/kr yksxksa dks dkSu lk cSad vkfFkZd lgk;rk iznku djrk gS \ 

 (A) ,fDte cSad    (B) dsUnzh; cSad 

 (C) O;kolkf;d cSad    (D) buesa dksbZ ugha 

Which bank provides financial assistance to people related to export-

import? 

 (A) Exim Bank    (B) Central Bank 

 (C) Commercial Bank   (D) None of these 

54- cktkj dh 'kfDr;ksa ds vk/kkj ij viuh uhfr;ksa dk fu/kkZj.k dkSu ls cSad djrs gSa \ 

 (A) futh     (B) lkoZtfud 

 (C) lgdkjh     (D) buesa ls dksbZ ugha 

 Which banks determine their policies according to market forces ? 
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(A) Private     (B) Public 

(C) Cooperative    (D) None of these 

55- jsyos ls gksus okyk ykHk ljdkj ds fy, vk; dk dkSu lk L=ksr gS \ 

 (A) dj jktLo izkfIr;k¡   (B) xSj&dj jktLo izkfIr;k¡ 

 (C) (A) ,oa (B) nksuksa   (D) buesa dksbZ ugha 

What kind of source of income is the profit from the Railways for the 

Government ? 

(A) Tax revenue receipts  (B) Non-tax revenue receipts 

(C) Both (A) and (B)   (D) None of these 

56- tqekZuk fdl izdkj dh izkfIr dk mnkgj.k gS \ 

 (A) dj jktLo izkfIr   (B) xSj&dj jktLo izkfIr 

 (C) iwathxr izkfIr    (D) buesa dksbZ ugha 

Fine is an example of which type of receipt ? 

(A) Tax revenue receipt  (B) Non-tax revenue receipt 

(C) Capital receipt   (D) None of these 

57- fuEufyf[kr esa fdlesa lkoZtfud miØeksa dk ,dkf/kdkj gS \ 

 (A) ijek.kq ÅtkZ    (B) j{kk 

 (C) jsyos     (D) buesa lHkh 

In which of following there is a monopoly of public enterpirses ? 

 (A) Nuclear energy   (B) Defence 

 (C) Railways    (D) All of these 
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58- deZpkjh jkT; chek fuxe fuEufyf[kr esa ls fdldk mnkgj.k gS \ 

 (A) lkoZtfud fuxe    (B) foHkkxh; miØe 

 (C) etnwj la?k    (D) buesa dskbZ ugha 

Employee State Insurance Corporation is an example of which of the 

following. 

 (A) Public Corporation   (B) Departmental Undertaking 

 (C) Labour Corporation  (D) None of these  

59- vktknh ds igys Hkkjr esa vDlj fuEufyf[kr dk izdksi jgrk Fkk \ 

 (A) gSTkk     (B) Iysx 

 (C) pspd     (D) buesa lHkh 

Before Independence, there were frequent outbreak of which of following in 

India ? 

 (A) Cholera     (B) Plague 

 (C) Chicken pox    (D) All of these  

60- Lora=rk ds le; Hkkjr esa fuEufyf[kr leL;k,a O;kIr Fkh \ 

 (A) fuEu fodkl nj    (B) m|ksxksa dk vHkko 

 (C) vf’k{kk     (D) buesa lHkh 

At the time of independence which of the following problems were prevalent 

in India ? 

 (A) low growth rate   (B) lack of industries 

 (C) Illiteracy    (D) All of these  
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61- jktdks"kh; uhfr ls vfHkizk; ljdkj dh fdl uhfr ls gS \ 

 (A) vk; uhfr    (B) O;; uhfr 

 (C) ctV rFkk vk;&O;; uhfr  (D) cSad nj uhfr 

 Which policy of the government is meant by fiscal policy ? 

 (A) Income Policy    

(B) Expenditure Policy 

 (C) Budget and Income-expenditure policy      

(D) Bank rate Policy 

62- fdl o"kZ rd Hkkjr dh tula[;k dks fLFkj j[kus dk y{; j[kk x;k gS \ 

(A) 2035     (B) 2040 

(C) 2045     (D) buesa dksbZ ugha 

 By which year the target has been set to stabilize the population of India ? 

(A) 2035     (B) 2040 

(C) 2045     (D) None of these  

63- GDP ds vk/kkj ij Hkkjrh; vFkZO;oLFkk fo’o esa dkSu ls LFkku ij gS \ 

 (A) pkSFkk     (B) ik¡pok 

 (C) NBok¡     (D) lkrok¡ 

 What is the rank of Indian economy in the world on the basis of GDP ? 

 (A) Fourth     (B) Fifth 

 (C) Sixth     (D) Seventh 

64- dkSu lh iapo"khZ; ;kstuk vafre gS \ 
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 (A) 12 oha     (B) 11 oha 

 (C) 10 oha     (D) 13 oha 

 Which five year plan is the last ? 

 (A) 12th      (B) 11th  

 (C) 10th      (D) 13th   

65- vkfFkZd fodkl ds fdrus {ks= gksrs gSa \ 

 (A) 3      (B) 4 

 (C) 5      (D) 6 

 How many sectors of economic development are there ? 

 (A) 3      (B) 4 

 (C) 5      (D) 6  

66- fuEufyf[kr esa ls fdls Spot Exchange rate ds uke ls tkuk tkrk gS \ 

 (A) cSad nj     (B) fofue; nj 

 (C) fons’kh fofue; nj   (D) buesa dksbZ ugha 

 Which of the following is known as Spot Exchange rate ? 

 (A) Bank rate    (B) Exchange rate 

 (C) Foreign exchange rate  (D) None of these  

67- Hkkjr dk lcls cM+ O;kolkf;d cSad dkSu lk gS \ 

 (A) ICICI     (B) PNB 

 (C) SBI     (D) BOI 

 Which is the largest commercial bank of India ? 
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 (A) ICICI     (B) PNB 

 (C) SBI     (D) BOI  

68- Hkkjr esa nwljh tula[;k uhfr dh ?kks"k.kk dc gqbZ \ 

 (A) 2000     (B) 2001 

 (B) 2002     (D) 2004 

 When was the second population policy announced in India ? 

 (A) 2000     (B) 2001 

 (B) 2002     (D) 2004  

69- Hkkjr esa fdrus dsUnzh; cSad gSa \ 

 (A) 1      (B) 2 

 (C) 3      (D) 4 

 How many central banks  are there in India ? 

 (A) 1      (B) 2 

 (C) 3      (D) 4 

70- fiNM+s ns’kksa esa fdl rjg dh xjhch ik;h tkrh gS \ 

 (A) ih<+hxr     (B) fujiss{k 

 (C) fLFkfrtU;    (D) buesa lHkh 

 What type of poverty is found in backward countries ? 

 (A) Generational    (B) Absolute 

 (C) Situational    (D) All of these 

71- ctV cukuk fdldk dke gS \ 
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 (A) Je ea=ky; dk    (B) jsyos dk 

 (C) vkj ch vkbZ dk    (D) foÙk ea=ky; dk 

 Whose job is it to make the budget ? 

 (A) Labor Ministry   (B) Railways 

 (C) RBI     (D) Finance Ministry 

72- Hkkjr ds dsUnzh; cSad dk uke D;k gS \ 

 (A) CBI     (B) SBI 

(C) RBI     (D) SEBI 

 What is the name of India’s central bank ? 

 (A) CBI     (B) SBI 

(C) RBI     (D) SEBI 

73- Hkkjr dh vFkZO;oLFkk fdl izdkj dh gS \ 

 (A) lektoknh    (B) iwathoknh 

 (C) fefJr     (D) buesa lHkh 

 What type of economy is India ? 

 (A) Socialist    (B) Capitalist 

 (C) Mixed     (D) All of these 

74- fons’kh fofue; nj dk nwljk uke D;k gS \ 

 (A) LekWy ,Dlpst jsV   (B) LikWV ,Dlizsl jsV 

 (C) LikWV ,Dlpst jsf’k;ks   (D) LikWV ,Dlpst jsV 

 What is the another name for foreign exchange rate ? 
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 (A) Small exchange rate  (B) Spot express rate 

 (C) Spot exchange ratio  (D) Spot exchange rate 

75- eujsxk dks iwjs ns’k esa dc ykxw fd;k x;k \ 

 (A) 2006     (B) 2008 

 (C) 2009     (D) 2010 

 When was MNREGA implemented across the country ? 

 (A) 2006     (B) 2008 

 (C) 2009     (D) 2010 

76- FERA ds LFkku ij dkSu lk u;k dkuwu yk;k x;k \ 

 (A) FIMA     (B) FERI 

 (C) FEME     (D) FEMA 

 Which new law was brought in place of FERA ? 

 (A) FIMA     (B) FERI 

 (C) FEME     (D) FEMA 

77- dj ds fdrus izdj gSa \ 

 (A) 2      (B) 3 

 (C) 4      (D) 10 

 How many types of tax are there ? 

 (A) 2      (B) 3 

 (C) 4      (D) 10 

78- th ,l Vh fdl rjg dk dj gS \ 
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 (A) izR;{k     (B) vizR;{k 

 (C) ,sfPNd     (D) buesa dksbZ ugha 

 What type of tax is GST ? 

 (A) Direct     (B) Indirect 

 (C) Optional    (D) None of these 

79- lkekftd lqj{kk ij [kpZ fdldk mnkgj.k gS \ 

 (A) O;fDxr O;;    (B) lkekftd O;; 

 (C) ljdkjh O;;    (D) (B)  ,oa (C) nksuksa 

 Expenditure on social security is an example of ? 

 (A) Personal expenditure  (B) Social expenditure 

 (C) Government expenditure  (D) Both (B) and (C) 

80- fHkykbZ LVhy IykaV dh LFkkiuk fdl iapo"khZ; ;kstuk esa dh x;h \ 

 (A) izFke     (B) f}rh; 

 (C) rr̀h;     (D) iape 

 In which Five year plan was steel plant in Bhilai established ? 

 (A) First     (B) Second 

 (C) Third     (D) Fifth 

81- lUrqfyr ctV esa D;k gksrk gS \ 

 (A) dqy O;; ¾ dqy vk;   (B) dqy O;; > dqy vk; 

 (C) dqy O;; < dqy vk;   (D) buesa dksbZ ugha 

 What happens in a balanced budget ? 
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 (A) Total expenditure = Total income 

(B) Total expenditure > Total income 

 (C) Total expenditure < Total income  

(D) None of these 

82- chl lw=h dk;ZØe dh 'kq#vkr fdl iapo"khZ; ;kstuk esa gqbZ \ 

 (A) pkSFkh     (B) ikapoh 

 (C) NBh     (D) lkroha 

 20 point programme started in which five year plan ? 

 (A) Fourth     (B) Fifth 

 (C) Sixth     (D) Seventh 

83- Hkkjr dk lcls cM+k lkoZtfud miØe dkSu lk gS \ 

 (A) Mkd?kj     (B) ch,l,u,y  

 (C) Hkkjrh; jsy    (D) buesa dksbZ ugha 

 Which is the largest public sector undertaking in India ? 

 (A) Post Office    (B) BSNL 

 (C) Indian Railways   (D) None of these 

84- ekSfnzd uhfr ds ek=kRed mik; fuEufyf[kr esa ls dkSu gS \ 

 (A) cSad nj     (B) [kqys cktkj dh fØ;k,¡ 

 (C) lkoZtfud _.k    (D) (A) rFkk (B) nksuksa 

 Which of the following is a quantitative measure of monetary policy ? 

 (A) Bank rate    (B) Open market operations 
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 (C) Public debt    (D) Both (A) and (B) 

85- lkoZtfud {ks= dss fy, dkSu lk vkjf{kr {ks= gS \ 

 (A) ijek.kq ÅtkZ    (B) jsyos 

 (C) j{kk     (D) buesa lHkh 

 Which area is reserved exclusively for public sector ? 

 (A) Nuclear energy   (B) Railway 

 (C) Defence    (D) All of these 

86- fuEufyf[kr esa ls fdl ns’k dk fyaxkuqikr lcls [kjkc gS \ 

 (A) phu     (B) Hkkjr 

 (C) usiky     (D) Jhyadk 

 Which of the following countries has most adverse sex ratio ? 

 (A) China     (B) India 

 (C) Nepal     (D) Sri Lanka 

87- fdldk fyaxkuqikr Hkkjr ls vPNk gS \ 

 (A) Jhyadk     (B) usiky 

 (C) E;kaekj     (D) buesa lHkh 

 Whose sex ratio is better than that of India ? 

 (A) Sri Lanka    (B) Nepal 

 (C) Myanmar    (D) All of these 

88- tux.kuk 2011 dss vuqlkj Hkkjr dh vkSlr vk;q fdrus o"kZ gS \ 

 (A) 66-1     (B) 65 
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 (C) 70      (D) 85 

 As per census 2011 what is average age of India ? 

 (A) 66-1     (B) 65 

 (C) 70      (D) 85 

89- ewY; òf) ds dkj.k gSa & 

 (A) vkfFkZd uhfr;ka    (B) mRiknu esa fxjkoV 

 (C) dkyk cktkjh    (D) buesa lHkh 

 Reason for price rise is - 

 (A) Economic policies   (B) Decline in production 

 (C) Black marketing   (D) All of these 

90- egcwc Åy gd izfl) gSa & 

 (A) dher fl)kar ds dkj.k   (B) vk; fl)kar ds dkj.k 

 (C) ekuo fodkl lwpdkad ds dkj.k (D) buesa dksbZ ugha 

 Mahbub ul Haq is famous for - 

 (A) Because of price theory   

(B) Due to Income theory 

 (C) Due to Human Development Index      

(D) None of these 

91- ekuo fodkl lwpdkad dk vk/kkj D;k gS \ 

 (A) LokLF;] f’k{kk] jkstxkj] thou Lrj (B) LokLF;] f’k{kk] jkstxkj 

 (C) LokLF;] f’k{kk] thou&Lrj  (D) f’k{kk] jkstxkj] thou&Lrj 
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 What is the basis of Human Development Index ? 

 (A) Health, education, employment, quality of life 

(B) Health, education, employment 

 (C) Health, education, quality of life      

(D) Education, employment, quality of life 

92- fdl 'kgj dks Hkkjr dh vkfFkZd jkt/kkuh dgk tkrk gS \ 

 (A) fnYyh     (B) eqacbZ 

 (C) t;iqj     (D) iVuk 

 Which city is called the financial capital of India ? 

 (A) Delhi     (B) Mumbai 

 (C) Jaipur     (D) Patna 

93- 2011 dh tux.kuk ds vuqlkj 6 o"kZ vk;q oxZ esa] Hkkjr esa izfr 1000 yM+dksa ij yM+fd;ksa 

dh la[;k fdruh gS& 

 (A) 914     (B) 916 

 (C) 918     (D) buesa dksbZ ugha 

As per the 2011 census In the age group of 6 years, the number of girls per 

1000 boys in India is - 

(A) 914     (B) 916 

(C) 918     (D) None of these 

94- lokZf/kd xzkeh.k vkcknh esa c<+ksÙkjh nj fdl jkT; esa ntZ dh x;h \ 

 (A) fcgkj     (B) mM+hlk 
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 (C) xksok     (D) e/; izns’k 

 Which state has recorded the highest growth rate in rural population ? 

 (A) Bihar     (B) Odisha 

 (C) Goa     (D) Madhya Pradesh 

95- ns’k dh dqy vkcknh dk yxHkx fdruk izfr’kr fcgkj esa fuokl djrk gS \ 

 (A) 6 izfr’kr     (B) 9 izfr’kr  

 (C) 15 izfr’kr    (D) buesa dksbZ ugha 

 What percentage of the total population of the country approximately 

resides in Bihar ? 

 (A) 6 %     (B) 9 % 

 (C) 15 %     (D) None of these 

96- orZeku essa jk"Vªh; fodkl ifj"kn~ ds v/;{k dkSu gSa \ 

 (A) ujsUnz eksnh    (B) uhrh’k dqekj 

 (C) nzkSinh eqjew    (D) vfer 'kkg 

 At present who is the chairman of the National Development Council ? 

 (A) Narendra Modi   (B) Nitish Kumar 

 (C) Draupadi Murmu   (D) Amit Shah 

97- ekax ,oa iwfrZ esa ifjorZu ds dkj.k mRiUu csjkstxkjh dgykrh gS \ 

 (A) pØh;      (B) ekSleh 

 (C) rduhdh     (D) ?k"kZ.kkRed 

 Unemployment generated due to change in demand and supply is called? 



33 
 

 (A) Cyclical     (B) Seasonal 

(C) Technical    (D) Frictional 

98- dk;Zdq’kyrk ,oa {kerk ds jgus ds ckotwn jkstxkj ugha feyuk] dkSu lh csjkstxkjh gS \  

 (A) f’kf{kr     (B) ?k"kZ.kkRed 

 (C) ekSleh     (D) rduhdh 

 Which type of unemployment is not getting employment despite having 

efficiency and ability ? 

 (A) Educated    (B) Frictional 

 (C) Seasonal    (D) Technical 

99- igyk vf[ky Hkkjrh; vk;qfoZKku laLFkku ¼AIIMS½ fLFkr gS \ 

 (A) ubZ fnYyh    (B) Qjhnkckn 

 (C) xqMxkao     (D) buesa dksbZ ugha 

 First All India Institute of Medical Science is located at ? 

 (A) New Delhi    (B) Faridabad 

 (C) Gudgaon    (D) None of these 

100- fons’kh O;kikj ds tfj, djsalh ¼eqnzk½ dh vnyk&cnyh dh ?kVuk dgykrh gS& 

 (A) fons’kh fofue;    (B) gokyk 

 (C) fuos’k     (D) buesa ls dksbZ ugha 

 The phenomenon of exchange of currency through international trade is 

called - 

 (A) Foreign exchange   (B) Hawala 
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 (C) Investment    (D) None of these 

Section-B 

Short Answer Type Questions 

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u ds 

fy, 2 vad fu/kkZfjr gSaA        (15x2=30) 

Question nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each 

question carries 2 marks.        (15x2=30) 

1- xjhch dh igpku djus ds nks rjhds crk,¡A      2 

 Mention two ways to identify Poverty. 

2- ctV ds nks mís’;ksa dks fy[ksaA        2 

 Write two objectives of budget. 

3- ljdkjh ctV ds dkSu&dkSu ls ?kVd gksrs gSa \      2 

 What are the components of the government budget ? 

4- xjhch dks dSls ekik tkrk gS \        2 

 How is poverty measured ? 

5- dj dks vius 'kCnksa esa ifjHkkf"kr djsaA       2 

 Define tax in your own words. 

6- jktdks"kh; uhfr esa 'kkfey nks vo;oksa dks fy[ksaaA     2 

 Write two components included in Fiscal Policy. 
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7- ctV dk eq[; Hkkx D;k gS \        2 

 What is the main part of the budget ? 

8- foHkkxh; miØe ds xq.k vkSj nks"k D;k gS \      2 

 What are the merits and demerits of departmental undertaking ? 

9- ljdkjh daiuh dh fo’ks"krk crk,aA        2 

 State the features of government company. 

10- ekSfnzd uhfr D;ksa egRowi.kZ gS \       2 

 Why is monetary policy important ? 

11- lkoZtfud miØeksa ds futhdj.k ls D;k vk’k; gS \     2 

 What is meant by privatization of public enterprises ? 

12- xjhch dh nks dkj.kksa dks crk,aA       2 

 Mention two causes of Poverty. 

13- ewY; òf) dk dkj.k D;k gS \       2 

 What is the reason for the price hike ? 

14- eqnzkLQhfr dks ljy 'kCnksa esa O;Dr djsaA      2 

 Express inflation in simple words. 

15- Hkkjr esa ewY; òf) dk ifj.kke D;k gS \      2 

 What is the effect of price rise in India ? 

16- tula[;k uhfr 2000 dh nks eq[; fo’ks"krk,¡ D;k gS \     2 

 What are the two main features of population policy 2000 ? 

17- Hkkjr esa jk"Vªh; fodkl ifj"kn~ D;k gS \      2 
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What is National Development Council in India ? 

18- la;qDr miØe LFkkfir djus ds D;k dkj.k gS \     2 

 What are the reasons for setting up a joint venture ? 

19- dkyk /ku dSls tek gksrk gS \       2 

 How is black money accumulated ? 

20- vFkZ’kkL= esa iwfrZ ls D;k vk’k; gS \      2 

 What is meant by supply in Economics ? 

21- Hkkjr esa dkyk/ku dks jksdus ds fy, cuk, x, fdUgha nks dkuwuksa dh la{ksi esa ppkZ djsaA2 

 Discuss in brief any two laws made to curb black money in India ? 

22- xjhch ds nq"pØ ls D;k vfHkizk; gS \      2 

What is meant by vicious circle of poverty ? 

23- mRiknu ds iSekus dh nks fo’ks"krk,¡ fy[ksaA      2 

 Write two characteristics of scale of production. 

24- LVkWd esa ifjorZu D;k gS \        2 

 What is change in stock ? 

25- WTO dk mís’; D;k gS \        2 

 What is the objective of WTO ? 

26- Hkwfe fodkl cSad ls D;k ykHk gS \       2 

 What is the benefit of land development bank ? 

27- lgdkjh cSadks ls gksusokys nks ykHkksa dks fy[ksaA     2 

 Write two advantage of co-operative banks. 
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28- lkaf[;dh ds nks dk;Z D;k gSa \       2 

 What are two functions of statistics ? 

29- lkaf[;dh dh rhu fo’ks"krkvksa dks fy[ksaA      2 

 Write three characteristics of statistics. 

30- fons’kh O;kikj dk D;k egRo gS \       2 

 What is the importance of Foreign trade ? 

Long Answer Type Questions

iz’u la[;k 31 ls 38 rd nh?kZ mÙkjh; iz’u gSaA buesa ls fdUgha 4 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 5 vad fu/kkZfjr gSaA         (4x5=20) 

Question nos. 31 to 38 are Long Answer Type Questions. Answer any 4 of them. 

Each question carries 5 marks.       (4x5=20)  

31- ekax dh yksp ekius dh fof/k;ksa dk o.kZu djsaA      5 

 Describe the methods of measuring elasticity of demand. 

32- Hkkjr ds vk;kr&fu;kZr ds enksa ij izdk’k MkysaA      5 

Throw light on the items of Import-Export of India. 

33- f}rh;d vkadM+ksa ls D;k le>rs gS \ bUgsa ,df=r djus ds fofHkUu L=ksrksa ds ckjs esa ppkZ 

dhft,A           5 

What do you mean by secondary data ? Discuss the various souces of 

collecting it. 
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34- O;kikfjd cSad ds izeq[k dk;ksZa dk o.kZu djsaA      5 

Describe the main functions of commercial bank. 

35- ekax oØ D;k gS \ ekax oØ ds uhps dh vksj >qdus ds dkj.kksa dh foospuk dhft,A 5 

What is demand curve ? Discuss the causes of downward slopping of 

demand curve. 

36- vkfFkZd leL;k D;k gS] ;g D;ksa mRiUu gksrh gS] Hkkjr ds lanHkZ esa ppkZ dhft, \ 5 

What is an economic problem, why does it arise, discuss it with reference to 

India ? 

37- fdlh ns’k ds fy, tula[;k dk D;k egRo gS \ viuk earO; nhft,A   5 

What is the importance of population for a country ? Give your opinion. 

38- xjhch mUewyu ds fy, Hkkjr ljdkj }kjk vc rd pyk, x, ;ksstukvksa dh ppkZ dhft,A5 

Discuss the schemes run by the government of India so far for poverty 

alleviation. 


